

Dr. Mangesh

MBBS, MD.

Super Speciality Hospital Your Trust. Our Service

OPD Prescription

UHID No.

: 3511

Patient Name : Pallavi Kapoor

Address

: Athri, Runnisaidpur, Sitamarhi

B.P.

Pulse:

OPD No.

: 2019

Date

: 31/05/2025

Age / Sex

: 09 days/ F

Temp:

Weight:

Satyam Super Speciality Hospital

Waripur (Opp. Satyam Paramedical College & Research) Muzaffarpur-842001, Bihar

Email: satyam_hospital@yahoo.com

Attn: Mission Heal

Fund Support Requisition for Economically Weaker Section

Reference No.

UHID :- 3511

OPD NO. 2019

DATE: 31/05/2025

PROFORMA INVOICE/FUND REQUISITION REPORT	
Satyam Super Speciality Hospital (A unit of Satyam medical care Pvt. Ltd.)	
Opp. Satyam Paramedical College And Research	
Maripur, Muzaffarpur,- 842001, Bihar	

Patient Name:	Pallavi Kapoor		
Sex:	Female		
Mother's Name:	Khushboo Kapoor		
Address:	Athri, Runnisaidpur, Sitamarhi		
Diagnosis:	Hypoxia, insufficient oxygen reaching body and		
	tissues and disrupting normal heart functioning.		
Date of Admission:	31 th /May/2025		

Overall Analysis: - Pallavi Kapoor, was brought to the hospital in the morning hours of 31th May 2025 in a critical condition by her parents. The condition of the kid is critical. Patient has Suffering from Hypoxia, insufficient oxygen reaching body and tissues and disrupting normal heart functioning. The kid has been admitted in NICU with 24 x 7 observation of concerned doctors and necessary treatment has been initiated. There conditions can be severe and require urgent medical attention to address the deficiencies and other complications, regular assessment and check up is required. The patient comes from a financially weaker section, Kid's father is a Farm Worker and mother a house wife who can't take care of the medical expense, so they need financial help of approx Rs. 1,14,760/- For almost 16 days of treatment.

Please provide financial support for the same.

Estimated Fund required during Hospital Stay and Overall Treatment.

S.No.	Element	Unit	Rate (INR)	Price (INR)
5.NU.	NICU	16	3000.00	48000.00
2	Nursing	16	500.00	8000.00
2	Visit	16	1000.00	16000.00
4	Procedure	1	5000.00	5000.00
5	Medicine	16	410.00	6560.00
6	RBS	16	100.00	1600.00
7	Oxygen	236	100.00	23600.00
8	Warmer	12	500.00	6000.00
				1,14,760.00

Autofat 30 fur

भीवा में,

महाश्य, जी अभी मात्र ०९ दीन की ही है, जो की धहुत ही गंभीर जीभारी से पुत्र रही है, जो की इसका अना मात्र हैं। डॉक्टर का करना है की इसके द्वार और के फड़ा में पहुत ही दिकत हैं, 19 मते इसका अति मान से में अहत ही दामरा आदही है, भाग ही और भी दिका है। डॉक्टर का करना है की इसका इसका जायन शहत ही मुक्ति है। डॉक्टर का करना है की इसका अनत इसाम है। की का समास्त्रोगा (आरंग ग्रीमी से पुत्र दे परिण के किए यह बाहत ही बरा दिम है। भी प्रति खेल में काम करते हैं और अंगि हार का देशमान करती हैं।

मेर्न है की भी आयींक एं देशिय दिशामी को देखें हर भी आयींक भदद करने का कृपा कर कर इसके लिए में भी भाष्ट्र का सदा आभारी ट्रेंडिंगे।

) 3114का विश्ववासी 13213 केन्द्र

